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Simplify. Leave answers in simplified radical form.
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Evaluate.
17.) W f(x) = —2x* — 4x + 7, find £(3).
£8) = ~203) - H(3)+ 7+
= -a(q) ~4(3)+?
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19.) i h(x) = —x + 3x, find h(m + 2).
Wmaz) = — CONEGED

T - (H-nXHfb) +3(HI2)
= ’(H z, Y :"‘-!) + 3(/“‘*3)
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18.)  If g(x) = 3x% + 5x — 4, find g(—4).

3'("‘3 N N
= 3C10) +S(-w) -
» Hf a0 -4
= 28 -4

20.)  Ife(x) = 2x% — 6x — 11, find c(t — 3).
¢(4-3) = 2(2-5)* - G(£-3) !
2(£-3)4-) - 6(€3) - 1!
2( 4Pt » ) -G(£-3) !
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21}  Simplify 5+3(2—;)—2 22}  Factor. 4x° —16x+9
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23.)  Solve. 5—3(m—4)% =41 24.) Given (—3,2) & (6,5) lieonaline
a ) -¢ write an equation in slope-intercept form.
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